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Find each quotient.

9+1= 72 +8 = 204 = 28 +4 =
96 -8 = 24 -3 = 36 -4 = TT=+7T7 =
32+-8 = 30+-6 = 11+-11= 27+3=
96 12 = 15+3= 80+8 = 8811 =
36 -3 = 9010 = 5+1= 66=-11=
12+1= 36+-9= 64 -8 = 8§+8 =

35+-5= 82 = 45+9 = 568 =
18+3 = 72+9 = 40+4 = 54+-6=
455 = 25+-5= 122 = 16 -4 =
22 = 20+-5= 3311 = 42 7 =
30+-5= 35+7 = 84 +77 = 15+5=
99 +-11= 6+-2= 9+-9= T+1=

11011 = 24 -8 = 50+-5= 32+-4 =
24 -4 = 2+1= 48 - 12 = 70+7 =
24 =2 = 99 +-9 = 105 = 6+-1=

7711 = 40+-5= 10010 = 4+2=

8+1= 567 = 637 = 8412 =
44 -4 = 18+2 = 144 =12 = 3612 =
222 = I11+1= 6012 = 102 =
6010 = 6+-6= 40=-10= 366 =
606 = 24 -6 = 66 -6 = 202 =
18+6= 42 -6 = 48 -6 = 12+-6=
202 = 56 -7 = 12012 = 5+5=

72+8 = 10+-2= 144 12 = 27+9 =
55+5= 3612 = 666 = 2010 =
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t" ' Jack-o’-lantern Division (C) Answers w
Find each quotient.

9+-1=9 72+8=9 20+-4=5 28+-4=17
96-+-8=12 24+-3=38 36 -4=9 77+7=11
32+-8=4 30-6=5 11+-11=1 27+3=9
96 +-12=8 15+3=5 80+8=10 88 +11=8
36-3=12 90+10=9 5+1=5 66+-11=6
12+-1=12 36-9=4 64 =8=38 8+-8=1
35+5=7 8+-2=4 45+9=5 56 +-8=7
18+-3=6 72+9=38 40+-4=10 54+-6=9
45+-5=9 25+5=5 12+-2=6 16 -4=4
2+2=1 20+-5=4 33+11=3 42 +7=6
30=-5=6 35+7=5 84 =7=12 15+5=3
99 +11=9 6+-2=3 9+90=1 T=1=7
110+-11=10 24+-8=3 50+5=10 32+4=8
24 +-4-6 2+-1=2 48 ~12=4 70=7=10
24 +2=12 99+-9-=11 10+-5=2 6+-1=6
77+-11=7 40+-5=8 100+-10=10 4+-2=2
8+-1=8 56 +-7=8 63+-7=9 84 —-12=7
44 -4=11 18+2=9 144 +-12=12 36 +-12=3
22+2=11 11+-1=11 60+-12=5 10+2=5
60+-10=6 6-6=1 40+-10=4 36-6=6
60+-6=10 24 -6=4 66+-6=11 20=-2=10
18+-6=3 42 +-6="7 48 -6=38 12+-6=2
20+-2=10 56+-7=8 120+12=10 5+5=1
72+-8=9 10+-2=5 144 -12=12 27+9=3
55+5i11 36 -12=3 66-6=11 20+10ji
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